@ THIRD SPACE

GCSE Maths Revision | Geometry and Measure | V) P RNING
Vectors - Worksheet
Skill

Group A - Column vectors
Write these vectors as column vectors:

1) 2) 3)
Lt A e
4) 5) 6)
AR NEERERN \
7) 8) 9)
\
10) 11) \\ 12)
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Vectors - Worksheet

Group B - Magnitude of a vector
Work out the magnitude of these vectors:

(Give your answer to 3 s.f. where necessary).

10)

—4
—1

Group C - Vector addition

)
() " (2
SEORN
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Vectors - Worksheet

Group D - Vector subtraction
Work out:

GG T () T
TE)(A) T (5)-(5) T (5)-(7)
| | -

(

S E RO R,

Group E - Vector multiplication

"2 (s) "a(3) ()
h) 0 Te(s) T (S)
"o s Ty
Ta(m) o H(E) (e
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Applied
1) D
b
A a B a C

(a) Find, in terms of a, the vector G'_}i
(b) Find, in terms of a and b the vector L—Té

2) Here are two vectors:

(a) Workout 3¢+ 2d

(b) Workout4d - 2c¢

3) Here is a rectangle. The diagonals meet at O.
0A=a,0B=h
A B
a b
(0
D C

(@) Find, in terms of b, the vector Eﬁ

(b) Find, in terms of a and b, the vector E
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Vectors - Worksheet
4)

2 ) and C_B) = ( —6 ) ,writeﬁ as a column vector.

Given that E = (5 0

e
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Vectors - Exam Questions

1) Here is a vector:
What is this vector as a column vector?
A B C D
5] 5] —D —3
4 —4 —4 4
(1 mark)
2) Here are two column vectors:
a:( _41) andh:( _34)
On the grid, draw the and label the vector 2a - b
(3 marks)
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Vectors - Exam Questions

3) OABC is a trapezium.

0 7

2b

N
B 7 C
3a

(a) Find, in terms of b the vector B_d

@
b) F ind, in terms of @ and b the vector Eﬁ
@
(© Find, in terms of @ and b the vector C'_}i
2
(4 marks)
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Vectors - Exam Questions
4) ABCD is a kite.

The diagonals of the kite cross at O.
The length OD is 4 times the length of OB.

A
a
b N
B < D
0,
C
(a) Find, in terms of a the vector Aa
@
(b) Find, in terms of a and b the vector B 3
@
©) Find, in terms of @ and b the vector DB
2
(4 marks)
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Vectors - Answers

Question Answer

Skill Questions

Group A Write these vectors as column vectors:

1) 1) (

b2 Ll
.‘“‘-_-"""-

-
’ 7 " (5)
C O " (1)
R (%)
ESE T (%)
) \ " (4)
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Vectors - Answers
Group A |7) 7) —4
contd \\ 2
8) 8) _3
~__ 1
9) 9) _4
\\ 3
10) —4
11) 11) / _3
// ( —3 )
12) 12) —1
/ —4
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Vectors - Answers

Group B | Work out the magnitude of these vectors:

(Give your answer to 3sf where necessary).

1) 5 1) 3.61
:)

5 2) 3.61

)

3)

4 3)4.12
1

4) 4) 3.61

5) 5) 2.83
6) 6) 3.16
7) 4.47
8)
9) 9) 5

10) 4.12

11) 4.24

12) 4.12

(
(
(
(%)
(%)
(%)

" ()
(V) o
()
()
(%)
(=)
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Vectors - Answers

Group C | Work out:
1) sy 1 1) ( 5 )
5 )7 3 8
2) 4 1 2) ( 5 )
5 )T =3 2

3) 4 1N 3) 3
(3)-(5) ()

4) 5 2 4) ( 7 )
(%)=(4) ¥

5) 5 _9 5) ( 3 )
(%)=(50) —r

6) 5 —9 6) 3
(%)=(7) (1)

7) 4 2 7) 6
(5)=(5) (1)

8) 4 9 8) ( 2 )
(=1)=(5) s

9) —4 2 9) —2
(=)-(5) (%)

10 , 10) /o
(+)-(1) (%)

11) / _o 4 11) 6
() -() ()

12) 9 4 12) ( _6 )
(=)-(7)
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Vectors - Answers

Group D

" ()0

T (3)-(3)
T (5)-(3)

T(5)-(4)
T (%) (5)
" (5)-(7)
" ()5
" (D))
" (3)-(2)
“(2)-(4)
S () ()
" (3)-(7)

1)

2)

3)

4)

5)

6)

7)

8)

9)
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Vectors - Answers

Group E | Work out:
" 2(3)
3

2 ;
()
3) 1
()
* ()
—1

5) ;
()
()
()
4
()
3 -

D

9 .
(7))
10 .
25
—4

11) _9
()
12) -
(=)
—5

1)

2)

3)

4)

5)

6)

7)

8)
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Vectors - Answers

Question Answer
Applied Questions
1) D
b+
A a B a C
a) Find, in terms of a, the vector C_fi a) -2a
b) Find, in terms of a and b the vector DC b) a-b
2) Here are two vectors:
4 —3
c_(l) andd_( 4 )
a) Workout 3¢+ 2d a) 6
(1)
b) Workout 4d - 2¢ b) —20
( 14
3) Here is a rectangle. The diagonals meet at O.
A B
a b
0
D c
a) Find, in terms of b, the vector DE a) 2b
b) Find, in terms of @ and b, the vector AB b) b-a
4 g P — J—
) GiventhatAB=(§)andCB=( 06), (g)
write AC as a column vector.
B C
A D
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Vectors - Mark Scheme

Question Answer

Exam Questions

1) Here is a vector: C (1)
-5
—4
What is this vector as a column vector?
A B C D
5 5 -5 -5
4 —4 —4 4
2) Here are two column vectors: ]
. 2a = )]
a— 4 and b = 3 —2
-1 ) 4
On the grid, draw the and label the vector 5
2a-b Ea—h:<‘)) 1)
2a—Db
(€))
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Vectors - Mark Scheme

3) OABC is a trapezium
5\a ’
0 7
X /
N
B - C
3a
(a) | Find, in terms of b the vector B_O) (a) -2b @
(b) | Find, in terms of @ and b the vector OC: (b) 2b+3a 1
(¢) |Find, in terms of & and b the vector oA () -3a-2b+5a @
2a-2b 1)
4) ABCD is a kite.
The diagonals of the kite cross at O.
The length OD is 4 times the length of OB.
A
a
b
B D
(0]
C
(a) |Find, in terms of a the vector A_O) (a) -a 1)
(b) | Find, in terms of @ and b the vector BA (b) a-b M
(¢) |Find, in terms of @ and b the vector De (© DO = 4b ()
4b - a

..................................................................................................................
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